Addition Strategies
· Add one number in parts (only one of the numbers is decomposed)
48 + 25
48+2=50
50+20=70              
70+3=73
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· Add by place (both numbers are decomposed)
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· Changing the numbers and compensating
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Creating an Equivalent Problem
48 + 25
48+25=50+23  (48+2=50 and 25-2=23)
50+23=73

Context: There were 48 kids in one room and 25 in the other, 2 moved from the room with 48 to the room with 25.  The total number of students is still the same.


Subtraction Stategies
· Subtract in parts (only one of the numbers is decomposed)
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· Adding up
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· Subtracting by place (both numbers are decomposed) 
[image: ]     
· Changing the numbers and compensating
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· Creating an Equivalent Problem
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I added 2 too many cubes, so | have to subtract 2 cubes.

75-2=73
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57 - 28
{28=20+7+1}
57-20 =37
37-7=30
30-1=29
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57 - 28
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57 -28
{57 +1 =158}
58 - 28 = 30
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57 -28

{57 +2 =59}
{28 +2 =30}
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48 + 25
40 + 20 = 60
8+5=13
60+ 13 =73
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48 + 25
50 +25=75
75-2=73
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50+25=75




